Support for dishcloth

By Dagmar Pezzuto — 2016 ©

ABBREVIATIONS

DS = double stitch

R =ring

SR = split ring

CH =chain

CL=cluny

+ =join

- = picot

Clr =close ring

JR = Josephine ring

CTM = continuous thread method

Thread = Brown and blue

Hoops in two sizes

Cover the two hoops with brown line.
http://www.janeeborall.freeservers.com/CoveringCaboneRing.pdf
BACK PART

12 ROUND

Blue thread

R1 = 6ds —6ds —6ds — 6ds. Clr
SR2,3,4,5 = 6ds — 6ds / 6ds — 6ds. CIr
SR6 = 6ds / 6ds — 6ds — 6ds.Clr
Repeat 3 x

22 ROUND

SR1 =5ds / 5ds — 5ds — 5ds . Clr
SR2,3,4,5 = 5ds — 5ds / 5ds — 5ds. ClIr
SR6 = 5ds / 5ds — 5ds — 5ds. Clr
Repeat 3x

32 ROUND

SR1 =4ds / 4ds — 4s —4ds. CIr
SR2,3,4,5 = 4ds — 4ds / 4ds — 4ds. CIr
SR6 = 4ds / 4ds — 4ds — 4ds. CIr
Repeat 2x



http://www.janeeborall.freeservers.com/CoveringCaboneRing.pdf

42 ROUND

SR1 = 3ds / 3ds — 3ds — 3ds. Cir
SR2,3,4,5 = 3ds — 3ds / 3ds — 3ds. Clr
SR6 = 3ds / 3ds — 3ds — 3ds. Cir

CH1 =2ds — 2ds + (SR5) 2ds — 2ds + (SR4 and small hoop) 2ds — 2ds + (SR3 and small hoop)
2ds — 2ds + (SR2) 2ds — 2ds. Tie & Cut

FRONT PART

R1 = 7ds — 7ds- 7ds + (SR1 12 ROUND) 7ds. Cir

SR2,3,4,5 = 7ds — 7ds / 7ds + (SR2,3,4,5 12 ROUND) 7ds. Clr

SR6 = 7ds / 7ds + (SR6 12 ROUND) 7ds + (SR6 12 ROUND) 7ds. FRONT PART

Clr
...l.l..'. -

CH1 = 8ds — 8ds s AL vV 1929
‘ OML\YL‘M’

CL1 = 16 passes + (SR6)

CL2 = 16 passes

R7 = 3ds —3ds + (CL1) 3ds — 3ds. Cir
CH2 = 16ds + (SR6)

CH3 = 7ds + (SR5)

CL3 =16 passes

R8 =3ds —3ds / 3ds —3ds. Clr

SR9 = 35 —3ds / 3ds- 3ds. Cir

CL4 = 16 passes + (SR5) O

Repeat 4x S
O

CHS = 16ds

SR16 =3ds —3ds — 3ds — 3ds. Clr O ..:
CL11 = 16 passes + (SR1) ‘ ‘
Cl12 =16 passes —: .
R17 = 3ds - 3ds / 3ds — 3ds. Clr ..

CH9 = 8ds — 8ds + (SR1) Tie & Cut .‘

BROWN THREAD o. “.
Start with CTM in R17. " .'.
R1 = 3ds —2ds — 2ds — 3ds. Cir Q°°

CH1 =4ds @
R2 = 3ds +( R1) 2ds — 2ds — 3ds. Clr =

Repeat 11x. Tie & Cut




JOINING THE BACK WITH PART OF FRONT

BROWN THREAD

It starts with CTM joining the R1 the FRONT PART with the R1 BACK PART.
CH1 =3ds + ( big Hoop ) 3ds

Repeat 6x

Around all the work with the brown thread

CH = 3ds + ( big hoop ) 3ds JR (8ds) 3ds + ( big hoop ) 3ds ........



